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1) Diya has 6796 sharpened pencils and 3362 unsharpened pencils. How many pencils does she 
have in all? 
____________________________________________________________________________

____________________________________________________________________________

____________________________________________________________________________

____________________________________________________________________________ 

 
2) A teacher has 3133 students in her class. If 7984 more students join her class, how many 
students will she have in all? 
____________________________________________________________________________

____________________________________________________________________________

____________________________________________________________________________

____________________________________________________________________________ 

 
3) Abhi used to weigh 5553 kg, but after his diet, he weighed 5096 kg. How much weight did he 
lose? 
____________________________________________________________________________

____________________________________________________________________________

____________________________________________________________________________

____________________________________________________________________________ 

 
4) Raghu had a paper due that was supposed to be 8077 words long. Saturday he typed 1816 
words. How many more words does he need? 
____________________________________________________________________________

____________________________________________________________________________

____________________________________________________________________________

____________________________________________________________________________ 

 
5) Diya has 3410 sharpened pencils and 2321 unsharpened pencils. How many pencils does she 
have in all? 
____________________________________________________________________________

____________________________________________________________________________

____________________________________________________________________________

____________________________________________________________________________ 
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6) A farmer has planted 5440 rows of corn. 4641 of the rows died in a drought. How many rows 
remain? 
____________________________________________________________________________

____________________________________________________________________________

____________________________________________________________________________

____________________________________________________________________________ 

 
7) The coach bought the team 4895 ml of lemon juice. The team drank 1911 ml of lemon juice 
at half-time. How many ml of lemon juice were left? 
____________________________________________________________________________

____________________________________________________________________________

____________________________________________________________________________

____________________________________________________________________________ 

 

8) Nidhi ate a cookie with 5255 calories, then jogged 5 km and burned 1747 calories. How 

many calories did she gain in all? 

____________________________________________________________________________

____________________________________________________________________________

____________________________________________________________________________

____________________________________________________________________________ 

 

9) The astronomer knew the names of 3652 constellations. After some research, she learned 

2363 more. How many does she know now? 

____________________________________________________________________________

____________________________________________________________________________

____________________________________________________________________________

____________________________________________________________________________ 

 
10) Ajay had 8733 coins and rolled 3365 of them. How many coins does he have left to roll? 
____________________________________________________________________________

____________________________________________________________________________

____________________________________________________________________________

____________________________________________________________________________ 
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11) Samir had memorized 5564 vocabulary words for his Science test, but he forgot 4890 

vocabulary words. How many words did he remember? 

____________________________________________________________________________

____________________________________________________________________________

____________________________________________________________________________

____________________________________________________________________________ 

 
12) The plane had 8383 passengers aboard. When they landed for a stopover, 5765 people got 
off. How many people remained aboard? 
____________________________________________________________________________

____________________________________________________________________________

____________________________________________________________________________

____________________________________________________________________________ 

 

13) Samir had to memorize 2659 vocabulary words for his Science test and 7322 vocabulary 

words for his English test. How many words did he have to memorize in all? 

____________________________________________________________________________

____________________________________________________________________________

____________________________________________________________________________

____________________________________________________________________________ 

 
14) The astronomer knew the names of 2521 constellations. He had seen 2154 of them. How 
many does he have left to see? 
____________________________________________________________________________

____________________________________________________________________________

____________________________________________________________________________

____________________________________________________________________________ 

 
15) Risabh had Rs.7111 in the bank, but spent Rs.3587. What was his new balance? 
____________________________________________________________________________

____________________________________________________________________________

____________________________________________________________________________

____________________________________________________________________________
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16) The team drank 2915 litres of Glucose at half-time, then 4284 litres after the game. How 

many litres of Glucose did they drink? 

____________________________________________________________________________

____________________________________________________________________________

____________________________________________________________________________

____________________________________________________________________________ 

 
17) The price of the toy was Rs.8112, but with the sale, Piyush got Rs.4852 off. How much did 
Piyush pay? 
____________________________________________________________________________

____________________________________________________________________________

____________________________________________________________________________

____________________________________________________________________________ 

 

18) Sunil walked 7669 metres east, then turned around and walked 4621 metres west. How 

far was Sunil from where he started? 

____________________________________________________________________________

____________________________________________________________________________

____________________________________________________________________________

____________________________________________________________________________ 

 

19)   The construction worker used 7786 nails for the front of the house and 2560 nails for 

the back of the house. How many nails did he use in all? 

____________________________________________________________________________

____________________________________________________________________________

____________________________________________________________________________

____________________________________________________________________________ 

20)   The salesman visited 4592 houses on Tuesday and 7224 houses on Thursday. How many 
houses did he visit? 
____________________________________________________________________________

____________________________________________________________________________

____________________________________________________________________________

____________________________________________________________________________ 
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Answer Key 
1)   10158 

 2)   11117 

 3)   457 

 4)   6261 

 5)   5731 

 6)   799 

 7)   2984 

 8)   3508 

 9)   6015 

 10)   5368 

 11)   674 

 12)   2618 

 13)   9981 

 14)   367 

 15)   3524 

 16)   7199 

 17)   3260 

 18)   3048 

 19)   10346 

 20)   11816 

 

 

 

 

 

 


